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00000000000 Itiswidely believed that by many people
for some time that ...00 OJ [0 J One reason they think is that... (1 [
[J O The ohter reason they hold isthat.. O O O OO0 O 0O OO O
[ O O O While others argue that ...[0 J [0 [J They maintain that...
OO0 00Theyalsoclaimthat.. 0 OO 0O OO O OOO O From
what has been discussed above, we may come to the conclusion that
.. 00O 0O Ontheone hand, ... 0 0 O 0 On the other hand, ...[1
OO00OOnlyinthiswaycanwe .. 0000000000000
(1 O O As is shown in the graph above, we can see clearly that great
changes have taken place in O from tod O O O [0 The first [
years sawl] (1 OO OO O The last [ years witnessed [0 [ O O O 0O [
0 0O 0O O O O What has caused this problem? It seems to me that
there are [J reasons.l] [ [ O Firstly, O O 0O O O Secondly,J O O
OO0FnallyD OO0O0OOO0OOOOOOOHow to solve the
problem has become a hot issue among many people.[] [ [ [ For
one thing, O 00 O O O For another, I U O O [0 Only in this way
can we successfully solve the problem.20060] 1200 O O 0O O O O O
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